htt;;://farbe.li.tu-berlir;.de/heu3/heu3IOnp.pdf /.psonly vectYor graphic VG; stMart output
see separate images of this pager//farbe.li.tu-berlin.de/heu3/heu3.htm

Fap(X)= achromatlc receptor response Fap(X)= achromatlc‘re‘"eptor response modified Fap(X)= achromatlc receptor response Fap(X)= achromatlc‘re‘"eptor response modified

e standard: standard: e standard: e, standard:
[ Fap(Xr)= bBTIa_—xa +1,0 = bBtanh[x /a] +1 Oa =1,00 b=1,00 [ Fap(%r)= bBWa—l—l +1,0 =bBtanh[x,/a] +1,0 a=1,00 [ Fap(Xe)= bBT/a_—xa +1,0 = bBtanh[x, /a] +1 Oa =1,00 b=1,00 [ Fap(Xe)= bBWa_" l+1 0 =bBtanh[x, /a] +1,0 3=1,00

37 (=1,00 e=2,7184 ] 37 (=1,00 e=2.718; B=1.

SR BE———— — W ———
" 0 " 0

L2

.
=1, =1, =0,29 b=1, =3, o 4 @=1,00 b=1,00 b/a=1,00 2=0,29 b=1,00 b/a=3,44
’ o’ o
AEE--- - =

%
1
|
I
»
)
A

my.=0,98 A my.=0,98

L ,=28cd/n? L =28cd/n? L ,=28cd/n? L ,=28cd/n?
L
+ t - + + + t t + t - + + t
4 x.=log[L/L] £0} X =log[L/L ] X, =log[L/L ] X =log[L/L ]

heu30-2a

b(x )=achromatic .e.ceptor responsek modified (%)= achromatlc receptor response mogtgrl‘ggd ab(Xr)= achromgtlc .e.ceptor responsek modﬁu::agd (%)= achromaatlc reaceptor response mog{g:g:!
e Xr/a_ ek —e s

- andard: = @
b(x )= t)[}ex',a—e,(—al +1,0 = bBtanh[x, /a] +1 Oa_l 00 b=1,00 I b(x )= bBTeJ-?a +1,0 =bBtanh[x/a] +1,0 ) 00 I b(x )= bBT'(_a +1,0 = bBtanh[x,/a] +1,0 a=1,00 b=1,00 I b(x )= bBW"/a +1,0 = bBtanh[x,/a] +1,0 a=1,00
B=1,00 e=2,7184 ‘ 4 B=1,00 e=2,718: ‘ B=1,00

al

|V.\I |.
4

a=0,43 b=1,00 b/a=2,32

L =28cd/n? B L ,=28cd/n? L =28cd/n?
I I L I L I L

t t - t t t t t t

4 x.=log[L/L] X =log[L/L ] v 4 x.=log[L/L]
heu30-3a = heu31-3a

(X, )=achromatic receptor response modified (%)= achromanc receptor responseX modified (X, ) =achromatic receptor response modified
o= dard: S dard: o= dard:
A= bﬁ—x' = +1,0 =bBtanh[x/a] +1,05-100b-100 | . $Fn(x,)= bB—x = e,x',a +1,0 = btanh[x, /a] +1,0 51 00 be1,00 A x)= bﬁ—x' =S +1,0 = bBtanh[x, /a] +1,0 321 00 b1,00
3 =100 e=2.7184 7 =100 e=2.7183 3 B=1.00 e=2,718

e w—

O
<, = 2< T
@:1‘50 b=1,00 b/a=0,66 b =T =1, =0, v - @:1‘50 b=1,00 b/a=0,66 Se L5 b=1,00 b/a=0,57
s N O d S
~ ~
= A= = - S cEmma —'::=l--
my.=0,66 X =0, my.=0,66 X my,=0,56

p(%r)= achromatlc receptor responseX modified
a Xy

(%)= bBﬁ +1,0 =bBtanh[x,/a] +1,0 54 90

‘ B=1,00

al al

4" ab’

q-N) 1130 2Y//:d1ALISS SJOYM dU} JO Saj}

—
(9]
(@]
>0
2.
Q
=k
>
=
o
=
3
2
o
>
=0
=

S
=~
=
Q
o
o)
;_'-.
<
o
o1
5 .
Q.
@D
o
=
=
=4

S

sd'/ Jpd-dugjgnauy/enay-ToZTH20Z uonensib

L =28cd/n? B v L =28cd/n? B L =28cd/n?
L L L L

x.=log[L/Ly] [ 3 4 x=log[LL,

o(Xp)= achromatlc receptor response modified an(Xr)= achromatlc receptor responseX modified 20X )= achromatlc receptor response modified an(Xr)= achromatlc receptor responseX modified
standard: ;X standard: L standa

rla_ d: Xp/a_
M 0)= bﬁx,a—e +1,0 = bBtanh[x,/a] +1,0 53 90 b-1.00 F(%)= b[}xla—e +1,0 = bBtanh[x, /a] +1,0 3100 b=1,00 M 0)= pr +1,0 = bptanh[x, /a] +1,0 3100 b=1,00 F, (% )=bRS o +1.0 =bBtanh{x;/a] +1, oa_mo
=10

X /a " ab X la 3 X /a - ab
W/
O

37 £=1,00 e=2,7187 e £=1,00 e=2,718:
a=3,44 b=1,00 b/a=0,29 i [ a=3,44 b=1,00 b/a=0,29
e ~ R

al

ndino juild 1o Aejdsip Jo Juswainseaw pue uoleneAs 104 uoledldde

[eusrew gn.L

my4+=0,29 =0, my4+=0,29

1=9p02

L =28cd/n? L =28cd/n?
+ L + L

t t =

log[L/L ] = =log[L/L]
heu30-7a heu30-8a heus1-7a heu31-8a

heu30-7n heu31-7i

TUB-test chart heu3; Model respon$ggX;), processes M-1<=a<=-0,7, b=0,5W (a=b=1), N+W
Tangens hyperbolicus tand)and mOdIerd with 82 and 16%/"; a’=a In(10); (+1,0)-shift




